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1 () WA A 3¢ (4nB)=4'UB. 10

() B 4={3.4.5}, B={-2,2,4.5} S, d 4UB, 4~B 44 7.5
A-B L.

2 (1) umendl : viel 2w, dBls oL, Guatel. 10

(e) A 4={1,2,3}, B={2.4,5}, C={1,2,3,4} €1, dl 7.5

AU(BNC)=(4UB)N(4UC) Aadl.

3 () unadl : suAy. 10
() el Bud 2. 7.5

11X nPy=6x(n+2) P

4 () uudl : AuA. 10

(@) nell Bud Dl : 10C,,,:10C,=7:4 . 7.5
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Fyd Aaq) :

() -

Bugl uAUAL Q&R Rldl.

Axondl : efsdan.

e §1Ra8 dAdl Guyldl 3 x=36 €A, AR yl BHdd

BRI S3U.

x: 202530 | 35 | 40
y:|20[45]115]210]225

8 vedl Budl Aadl :

211970 (1971|1972 [1973 | 1974 (1975

10 15 — 20 — 30

ENGLISH VERSION

Instructions : (1) Marks are indicated on right side.

1 (a)
(b)
2 (a)
(b)
3 (a)
(b)
4 (a)
(b)

(2) All questions carry equal marks.
(3) Attempt any four questions.

Prove that : (AmB)'=A'uB'.

If 4={3,4,5}, B={-2,2,4,5}, then find 4UB, 4nB
and 4_p.

Explain : Null Set, Unversal Set, Subset.

If 4={1.2,3}, B={2.4.5}, C={1.2,3,4}, then find
AU(BNC)=(4UB)N(4UC).

Explain : Permutation.
Find the value of »n :

11xnPy=6x(n+2) P

Explain : Combination.
Find the value of n : 10C,,;:10C,=7:4.

10

7.5

10
7.5

17.5

10

10
7.5

10
7.5

10
7.5
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5 (a) Find the value of (51). 10

9
2 3
(b) Obtain middle terms in the expansion of (_x - _y] . 1.5

3 2

6 (a) Find the value of : 10
6 6
(-1

(b) State characteristics of Binomial Theorem. 7.5

7 (a) Explain : Extrapolation. 10

(b) Using Newton's Forward Method, estimate y when 7.5

x=36.

x:|20 (2530 | 35 | 40
y:120[45]115[210|225

8 Find the missing values : 17.5
x: 11970 11971 | 1972 (1973 | 1974 | 1975
y:| 10 15 — 20 — 30
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